Lopi Answer NexGen (2020) Stove Parts List

Description SKU
AIR CNTL ROD W/SPRING HANDLE - ANSWER 2020 250-05232
AIR CONTROL SLIDER, NO HANDLE - ANSWER 1 2020 250-05148
AIRTUBE KIT, L-33 ANS Il - ANSWER Il 2020 98900254
AIRTUBE PINS & SCREWS - 4 PK - VARIOUS AIRTUBE KITS 250-02186
ASHLIP, CAST ALUMN - BLACK - AGP PS/INS - ANS NXGN/FXFR 250-02701
BAFFLE BOARD - ANSWER Il 2020 250-05147
BAFFLE CAP, ANS/END - ANSWER/ENDEAVOR Il - 2020 250-05130
BAFFLE WEIGHT (x1) - 8-1/4" sq. - ANSWER Il 2020 250-05149
BRICK, IGNITER - GRNST IGN BRICK 251-00073
BRICK-CUT, 9 x 1-3/8 251-00018
BRICK-WHOLE,9 x 4-1/2 x 1-1/4 - STANDARD FIREBRICK 251-00000
BUSHING - 5pk (DOOR/HANDLE) - 7/8" LONG x 1/2" dia 250-00421
CERAMIC FIBER BLANKET - ANSWER I 2020 250-05145
COVER PLATE, AIR CONTROL - ANSWER/1250I 250-02707
DOOR ASSY, ARCH SM LOPI - COMPLETE 250-05120
DOOR FRAME ONLY, ARCH SM LOPI - no Handle, Glass or Gasket 250-05122
DOOR HANDLE ASSY - w/ DR LATCH & PIN 250-03606
DOOR LATCH BRACKET - LOPI WOOD 250-05115
FASTENER - HEX NUT 5-PK - 1/4-20 - CENTER-LOCK 250-01088
FASTENER - HEX NUT 8-32 - 25PK - CENTER-LOCK - 8-32 250-04734
FASTENER - KEPS NUT, 10 PK 8-32 250-01292
FASTENER - SCW 25 PK - HWSHMS,10-24x1/2 BLK - TYPE F 250-02925
FASTENER - SCW 6 PK BLOWER - 1/4-20 x 1/2" 250-02717
FASTENER - SCW 6-PK NAMEPLATE - #2 x 3/8 TYPE U (BLACK ZINC) 250-05385
FASTENER - SCW BLACK 6 PK - PHPSMS, #8 x 3/8" 250-01291
FASTENER - SCW BLK 6 PK - WD DR HNDL, 1-1/4"x1/4-20 250-00426
FASTENER - SCW T-20 NKL, 10PK - 10-24 x1/2 - FLAT HEAD TORX 250-03656

FASTENER, SCW - AIRTUBE PIN, 25-PK - HWH SWAG, 1/4-20x1/2" SS

250-05117




Lopi Answer NexGen (2020) Stove Parts List

FASTENER, SCW BLACK 25-PK - SHCS 10-24x1/2" 250-05119
FASTENER, SS LOCK NUT 25-PK - HEX NY-LOCK, 3/8-16 316SS 250-05118
GLASS RETAINER w/ 1/2" GSKT ROPE - CAST IRON - MED. LOPI 250-05112
GLASS RETAINER w/ 1/2" GSKT ROPE - CAST IRON - SM LOPI 250-05123
GLASS w/ GSKT, SM LOPI - SMALL LOPI 250-05121
GSKT (2), IGNITER F/S - GREENSTART IGN, STOVE 250-02532
GSKT CEMENT, 30z. TUBE w/BRUSH - UNIVERSAL 250-04477
GSKT TAPE, 1/4"x1/16" BLACK - 10' BULK LENGTH 250-00949
GSKT, 1/2" X 50' BLACK - BULK - 50' 250-02330
GSKT, AIR SHUTTER (1) 250-05473
GSKT, DOOR - 1/2" Dia, 70" 250-02832
GSKT, GLASS 3/4" WIDE x 70" - LOPI WOOD, PELLET & GAS 99900405
HANDLE (SPRING), A/C - BLACK - 3/8" id x 2.500" LONG 250-00372
HANDLE (WOOD) BLK, DOOR - PAINTED w/ BLK SCREW 250-01305
HINGE PIN, STEEL 2-PK - 1/4" Dia. x 1-3/4" Long 250-05313
HW PACK, IGNITER F/S vr.3 - 94400955 250-05412
HW PACK, LEG CLIP — MOBILE HOME INSTALLATION 98900509
IGNITER COVER PLATE, BASE w/ GSKT - FS WOOD 250-02942
IGNITER, GRNSTART - FS/INS - WD STOVE/INSERT IGNITER 250-02710
LEG, STEEL, BLACK (1) - FS GAS/WOOD STOVE 250-03372
MAGNET, 1/2" SUPER NEODYM BLK - 10 PK - 1/2" DIA X 1/4" THICK. 250-01875
MANUAL, ANSWER 2 - EPA - 2020 250-05125
MOISTURE METER - FIREWOOD MOISTURE 250-02635
PAINT, METALLIC BLACK 30z CAN - LIMITED TO STOCK ON HAND 250-00347
PUSH PIN, 11/64" dia. [10pk] ANS NX - ANSWER NEXGEN 250-06054
START BUTTON ASS'Y 5/8"dia. - FS IGNITER - WOODSTOVE IGNITER 250-06129
STOVE PACK, ANSWER 2 - ANSWER Il 2020 250-05124
TRIM, TOP, BLK - ANSWER - EXTRUDED ALUM., 23.000" LONG 250-00382




